X9 17"7 'o1n R, 0D .70

— 73 RED WY IRMIY RN RY
We do not find Tum’oh which replicates itself

OVERVIEW

The X1m3 explains that 01 "1 expounds the p109 which states,! 70w WX apwn 527
X *93 993,” to mean that the *w 7pw» can be P3IX Xnwn.’ The Xax ask perhaps it
means that the (@) 7pwn can be Xnvn other Ppwn (but not 1P72IX). X5 11 answered
it cannot mean that the apwn is Ppwn Xnvn, for 72 RXPD AWW ORMID 19X XY
(therefore it must mean 22X Rnw?). There is a dispute between >"w9 and ModIN as
to the meaning of 712 XX W ARV 1IN K.

- 12 N8 NYIY IRV PRY 8N DY 1PW4113 *o909DN Y
>'"w9 explained; as we expound later in our X723 that the word X»ws teaches that
a2 NX1% AwY AR R —

mooIn disagrees with >"wA; firstly -
- 1Py 5093 K91 0990 NN
There are texts where later it does not state this whole 7w17 of 72 XX 7w X7 XL -
— MIYNUNN 19 NP RNYYNT $RUNT 519 Y KY 135810 XY PNYH)
And secondly, the phrase 119x» X% does not lend itself to s"w1 explanation, for the

phrase 11°3» X indicates that we derive it from elsewhere from an inference that
712 KXV WY XMW PR,

mooin offers his interpretation:
TN RNV (8,1 97 DIYD 1PWITTD N2 NI NWIY ANMDIV 13981D XD PNYY 139349 Y9

! 72,80 (1Y) RIP.

% The p109 is referring to the 1pwn (a °2w) which was in a 0717 °%3 (a PWRA) into which a YW (an IRV aR) fell.

> We expound the word Xnv” (that it becomes &nv) as if it was written X»v* (it can be Xnvn others).

XY A

> On the '2 7.

® This is the same word X»u> mentioned in footnote # 1 & 3. However since the proper reading of the word is Xaw>
(not Xny2); we interpret it that only it can become X»v but it cannot be 72 XX1%D Xnvn.

7 The text which appears in our n173 on the '2 Ty from "1 72w PRT ¥aw> until 191 X271 "%, does not appear in the
073 K27 0190 DK (see X"wn). Therefore we have no source for 72 XX 7w Axmw PR. [According to the nianm
MAvm on this X"wamn, the "7 understands that MvoIN means that in some texts of *"wn the word np% does not
appear (and also the words 121 Xnw), w"y.]

8 According to ""wn we are deriving 72 RX12 vy A8»W 7R, from the same word (and 105 of) Xnw>, from where we
derive that 1pwn is 172 Rnvn. Why say 181 X2 (which means we know it from elsewhere), when we derive it from
the very same 2109 (and word); simply say &nv> 2°n377?!
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And the >"1 explains that we know 72 RX12 7wy aN2IL W3» XY as was

expounded previously from the phrase X7 KnB,” that XD X7, but K¥PD AN W PR
n.

SUMMARY
We derive that 72 XX1°2 7wy a8 X either from the word Xnv° (according to °"'w9)
or from the words X7 X1 (according to MdOIN).

THINKING IT OVER

The 705 of X177 Xnv which mooIn cites'® as the source for 72 KX AW IRMY PR is
discussing 1722%,'" How do we know that it applies to 1pwn as well, that apwn
cannot be Xnvn other ]’ptzm?!lz

? mo,x0 ((1nw) RPN See ‘Thinking it over’.

19 See footnote # 9.

" The 108 reads X377 Xnv 1"9¥ ON9231 9511 Y1 5¥ 07 N *2.
12 See o°noD .
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